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int atomic_buffer init(int key);
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int atomic buffer read(int shmid, char msg[]);
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int atomic buffer write(int shmid, char msg[]);
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void main()
int shmid;
char msgl[256], msg2[256];
int id;
shmid = atomic buffer init(314159);
id = fork();

if (id == 0)
{
atomic buffer write(shmid, "Hello ");

atomic buffer write(shmid, "World!");
return;
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atomic_buffer read(shmid, msgl);
atomic buffer read(shmid, msg2);

printf("msg = %s %s\n",msgl, msg2);

1 /* main */

e b
% ./a.out

msg = Hello World!

%
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void my try(int signum,
void (*try code)(void), void (*catch code)(void));
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void div_by zero()
{

iRt X, ¥:

0
1

X }

y = 10/x;

} /* div_by zero */
void catch_example()

fprintf(stderr, "Arithmetic errorin");
} /* catch example */

int main()

my try(SIGFPE, div by zero, catch example);
printf("Terminating regularly\n");
return 0;
} /* main */
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% ./a.out

Arithmetic error
Terminating regularly

%
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# awk -f depth.awk decZhex.c

[0] /* decZhex.c convert decimal to hexadecimal */
[0] #include <stdio.h>

[0]



[0] void main(int argc, char *argv[])

[1] { _
[1] Tong int x;

[1] if(argc <2)

[2] fprintf(stderr, "Usage: decZhex decimal numberin");
(2] exit(0);
}

[1] printf("argv[l] = %s\n", argv[l]);
[1] sscanf(argv[1], "#1d", &x);
printf("%1d = 0x%1x\n", x, Xx);

} /* main */
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% test idn
contents of file fibo.c is identical to file fibol.c
contents of file fm.c is identical to file funm.c
%



